ASE BII	D ITEMS: S. Cou	rt Street Concrete Curb Replacement			Engineer'	s Estimate	#1 RMH	Concrete	#2 Smith P	aving & Exc.	#3 D.L. Smi	th Concrete	#4 Denes	Concrete
ITEM No	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAI
	ORK & REMOVA		QII	UNIT	COST	IOIAL	COST	IOIAL	COST	IOIAL	COST	IOIAL	COST	I IUIA
AKINW	OKK & KEIVIOVA	ODOT 203 Excavation, not including embankment, including removal and		Cubic										
1	ODOT/SC	disposal of excess material off site.	296	Yard	\$30.00	\$8,880.00	\$32.50	\$9,620.00	\$37.00	\$10,952.00	\$20.00	\$5,920.00	\$50.00	\$14,800
2a	ODOT/SC	ODOT 203 Granular Embankment, Type 304 Aggregate (furnish, install and compact 304 aggregate)	54	Cubic Yard	\$65.00	\$3,510.00	\$96.95	\$5,235.30	\$94.00	\$5,076.00	\$50.00	\$2,700.00	\$35.00	\$1,890.
2b	ODOT/SC	ODOT 203 Granular Embankment, Type 57 Aggregate (furnish, install and compact 57 aggregate)	135	Cubic Yard	\$65.00	\$8,775.00	\$96.15	\$12,980.25	\$111.00	\$14,985.00	\$50.00	\$6,750.00	\$45.00	\$6,075.
3	ODOT	ODOT 252 Full Depth Pavement Sawing, as per plan	2,987	Lineal Foot	\$4.00	\$11,948.00	\$2.30	\$6,870.10	\$1.75	\$5,227.25	\$3.00	\$8,961.00	\$2.00	\$5,974.
4a	MEDINA	Pavement Removal, 7" to 18" Concrete, Asphalt or Composite pavement, including curb removal (street and driveways), NOT including pavement sawing	301	Square Yard	\$20.00	\$6,020.00	\$25.95	\$7,810.95	\$39.00	\$11,739.00	\$5.00	\$1,505.00	\$35.00	\$10,535
4b	MEDINA	Pavement Removal, 7" to 18" Concrete, Asphalt or Composite pavement, including curb removal near existing street trees to remain (including hand digging for form installation), NOT including pavement sawing	22	Square Yard	\$150.00	\$3,300.00	\$81.30	\$1,788.60	\$48.00	\$1,056.00	\$25.00	\$550.00	\$20.00	\$440.0
5	ODOT	ODOT 202 Walk Removed	225	Square Foot	\$2.00	\$450.00	\$1.00	\$225.00	\$4.00	\$900.00	\$3.00	\$675.00	\$1.00	\$225.0
6	MEDINA	Unsuitable Base Removed and Replaced with ODOT 304 Aggregate Fill	50	Cubic Yard	\$70.00	\$3,500.00	\$119.50	\$5,975.00	\$130.00	\$6,500.00	\$40.00	\$2,000.00	\$75.00	\$3,750
		SUBTOTAL, EARTHWOR	K & REMO\	/AL ITEMS:		\$46,383.00		\$50,505.20		\$56,435.25		\$29,061.00		\$43,689
TORM S	SEWER													
7	ODOT/SC	ODOT 604 Manhole Adjusted to Grade	6	Each	\$500.00	\$3,000.00	\$440.00	\$2,640.00	\$840.00	\$5,040.00	\$1,500.00	\$9,000.00	\$350.00	\$2,100
8	MEDINA	Storm Sewer, 6-inch diameter PVC lateral, within pavement areas (premium fill required) as per plan (including trenching, furnish and install bedding, and backfill)	50	Lineal Foot	\$35.00	\$1,750.00	\$40.00	\$2,000.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$35.00	\$1,750

\$4,750.00

\$4,640.00

\$6,040.00

\$10,000.00

\$3,850.00

SUBTOTAL, STORM SEWER:

ASE BI	DITEMS: S. Com	rt Street Concrete Curb Replacement			Engineer	's Estimate	#5 Tri Mor	Corporation	#6 Perri	n Asphalt	#7 Fechko	Excavating
ITEM	5 11 Emo. 0. 000			1	UNIT	ITEM	UNIT	ITEM	UNIT	I ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
	ORK & REMOVA					1		1 1 1 1 1 1		1		
		ODOT 203 Excavation, not including embankment, including removal and		Cubic								
1	ODOT/SC	disposal of excess material off site.	296	Yard	\$30.00	\$8,880.00	\$17.00	\$5,032.00	\$41.00	\$12,136.00	\$30.00	\$8,880.00
2a	ODOT/SC	ODOT 203 Granular Embankment, Type 304 Aggregate (furnish, install and compact 304 aggregate)	54	Cubic Yard	\$65.00	\$3,510.00	\$85.00	\$4,590.00	\$110.00	\$5,940.00	\$123.00	\$6,642.00
2h	ODOT/SC	ODOT 203 Granular Embankment, Type 57 Aggregate (furnish, install and	135	Cubic Yard	\$65.00	\$8,775.00	\$90.00		\$92.00	\$12,420.00	\$95.00	
2b	0D01/8C	compact 57 aggregate)	133		ψου.υυ	\$0,775.00	φ90.00	\$12,150.00	ֆ9Z.00	\$12,420.00	\$95.00	\$12,825.00
3	ODOT	ODOT 252 Full Depth Pavement Sawing, as per plan	2,987	Lineal Foot	\$4.00	\$11,948.00	\$3.00	\$8,961.00	\$2.25	\$6,720.75	\$2.50	\$7,467.50
4a	MEDINA	Pavement Removal, 7" to 18" Concrete, Asphalt or Composite pavement, including curb removal (street and driveways), NOT including pavement sawing	301	Square Yard	\$20.00	\$6,020.00	\$80.00	\$24,080.00	\$42.00	\$12,642.00	\$15.00	\$4,515.00
4b	MEDINA	Pavement Removal, 7" to 18" Concrete, Asphalt or Composite pavement, including curb removal near existing street trees to remain (including hand digging for form installation), NOT including pavement sawing	22	Square Yard	\$150.00	\$3,300.00	\$130.00	\$2,860.00	\$150.00	\$3,300.00	\$15.00	\$330.00
5	ODOT	ODOT 202 Walk Removed	225	Square Foot	\$2.00	\$450.00	\$5.00	\$1,125.00	\$3.50	\$787.50	\$1.65	\$371.25
6	MEDINA	Unsuitable Base Removed and Replaced with ODOT 304 Aggregate Fill	50	Cubic Yard	\$70.00	\$3,500.00	\$110.00	\$5,500.00	\$60.00	\$3,000.00	\$110.00	\$5,500.00
		SUBTOTAL, EARTHWOR	K & REMOV	/AL ITEMS:		\$46,383.00		\$64,298.00		\$56,946.25		\$46,530.75
											_	
TORM	SEWER					T		T		T		
7	ODOT/SC	ODOT 604 Manhole Adjusted to Grade	6	Each	\$500.00	\$3,000.00	\$900.00	\$5,400.00	\$400.00	\$2,400.00	\$285.00	\$1,710.00
		Storm Sewer, 6-inch diameter PVC lateral, within pavement areas (premium fill required) as per plan (including trenching, furnish and install		Lineal								
8	MEDINA	bedding, and backfill)	50	Foot	\$35.00	\$1,750.00	\$60.00	\$3,000.00	\$52.00	\$2,600.00	\$29.00	\$1,450.00
		SURTO	TAL. STOR	RM SEWER:		\$4,750.00		\$8,400.00		\$5,000.00		\$3,160.00

BASE BI	D ITEMS: S. Cou	rt Street Concrete Curb Replacement			Engineer'	s Estimate	#1 RMH	Concrete	#2 Smith Pa	aving & Exc.	#3 D.L. Sm	ith Concrete	#4 Denes	s Concrete
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL								
PAVEME	NT													
9	MEDINA	Concrete Sidewalk, (four (4) inch thick fiber reinforced Type C concrete with two (2) inches of aggregate base), varying width, complete in place	100	Square Foot	\$7.00	\$700.00	\$5.35	\$535.00	\$10.50	\$1,050.00	\$15.00	\$1,500.00	\$9.50	\$950.00
10	MEDINA	Concrete Curb Ramp, ODOT Design A2, complete in place	209	Square Foot	\$15.00	\$3,135.00	\$14.50	\$3,030.50	\$14.00	\$2,926.00	\$15.00	\$3,135.00	\$15.00	\$3,135.00
11	MEDINA	ODOT Item 609 Combination Curb and Gutter, Type 2, as per plan (nine (9) inch fiber reinforced Type MS concrete curb and gutter with six (6) inch curb reveal)	2,906	Lineal Foot	\$22.00	\$63,932.00	\$16.55	\$48,094.30	\$17.00	\$49,402.00	\$27.00	\$78,462.00	\$25.00	\$72,650.00
12	ODOT	ODOT Item 407 Tack Coat	17	Gallon	\$20.00	\$340.00	\$10.50	\$178.50	\$15.00	\$255.00	\$5.00	\$85.00	\$25.00	\$425.00
13	ODOT	ODOT Item 448 Asphalt Concrete Surface Course, type 1, PG-64-22	14	Cubic Yard	\$500.00	\$7,000.00	\$892.50	\$12,495.00	\$200.00	\$2,800.00	\$100.00	\$1,400.00	\$800.00	\$11,200.00
		SU	BTOTAL, P	AVEMENT:		\$75,107.00		\$64,333.30		\$56,433.00		\$84,582.00		\$88,360.00

SEEDING	and LANDSCA	PING												
14	ODOT/SC	ODOT 653 Topsoil, furnished and placed	108	Cubic Yard	\$40.00	\$4,320.00	\$89.00	\$9,612.00	\$62.00	\$6,696.00	\$50.00	\$5,400.00	\$35.00	\$3,780.00
15	ODOT	ODOT 659 Commercial Fertilizer	0.12	Tons	\$2,000.00	\$240.00	\$2,660.00	\$319.20	\$1,500.00	\$180.00	\$50.00	\$6.00	\$2,500.00	\$300.00
16a	ODOT/SC	ODOT 659 Seeding and Mulching	1,292	Square Yard	\$2.50	\$3,230.00	\$2.50	\$3,230.00	\$2.15	\$2,777.80	\$5.00	\$6,460.00	\$5.00	\$6,460.00
16b	ODOT/SC	ODOT 659 Inter-Seeding	130	Square Yard	\$2.50	\$325.00	\$9.70	\$1,261.00	\$4.00	\$520.00	\$5.00	\$650.00	\$5.00	\$650.00
17	ODOT/SC	ODOT 832 Erosion Control	3,000	Each	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
18	ODOT	ODOT 659 Water	8	M Gallons	\$50.00	\$400.00	\$89.00	\$712.00	\$10.00	\$80.00	\$10.00	\$80.00	\$200.00	\$1,600.00
		SUBTOTAL, SEEDING	and LANDS	CAPING:		\$11,515.00		\$18,134.20		\$13,253.80		\$15,596.00		\$15,790.00

BASE BI	D ITEMS: S. Cou	rt Street Concrete Curb Replacement			Engineer'	s Estimate	#5 Tri Mor	Corporation	#6 Perri	n Asphalt	#7 Fechko	Excavating
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT Cost	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
PAVEME	NT											
9	MEDINA	Concrete Sidewalk, (four (4) inch thick fiber reinforced Type C concrete with two (2) inches of aggregate base), varying width, complete in place	100	Square Foot	\$7.00	\$700.00	\$8.00	\$800.00	\$16.50	\$1,650.00	\$8.00	\$800.00
10	MEDINA	Concrete Curb Ramp, ODOT Design A2, complete in place	209	Square Foot	\$15.00	\$3,135.00	\$20.00	\$4,180.00	\$21.00	\$4,389.00	\$20.00	\$4,180.00
11	MEDINA	ODOT Item 609 Combination Curb and Gutter, Type 2, as per plan (nine (9) inch fiber reinforced Type MS concrete curb and gutter with six (6) inch curb reveal)	2,906	Lineal Foot	\$22.00	\$63,932.00	\$22.00	\$63,932.00	\$32.00	\$92,992.00	\$39.00	\$113,334.00
12	ODOT	ODOT Item 407 Tack Coat	17	Gallon	\$20.00	\$340.00	\$12.00	\$204.00	\$10.00	\$170.00	\$10.00	\$170.00
13	ODOT	ODOT Item 448 Asphalt Concrete Surface Course, type 1, PG-64-22	14	Cubic Yard	\$500.00	\$7,000.00	\$450.00	\$6,300.00	\$650.00	\$9,100.00	\$850.00	\$11,900.00
		su	BTOTAL, P	AVEMENT:		\$75,107.00		\$75,416.00		\$108,301.00		\$130,384.00

SEEDING	NG and LANDSCAPING											
14	ODOT/SC	ODOT 653 Topsoil, furnished and placed	108	Cubic Yard	\$40.00	\$4,320.00	\$60.00	\$6,480.00	\$91.25	\$9,855.00	\$37.00	\$3,996.00
15	ODOT	ODOT 659 Commercial Fertilizer	0.12	Tons	\$2,000.00	\$240.00	\$3,000.00	\$360.00	\$2,000.00	\$240.00	\$2,160.00	\$259.20
16a	ODOT/SC	ODOT 659 Seeding and Mulching	1,292	Square Yard	\$2.50	\$3,230.00	\$5.00	\$6,460.00	\$2.50	\$3,230.00	\$1.15	\$1,485.80
16b	ODOT/SC	ODOT 659 Inter-Seeding	130	Square Yard	\$2.50	\$325.00	\$3.50	\$455.00	\$5.00	\$650.00	\$0.70	\$91.00
17	ODOT/SC	ODOT 832 Erosion Control	3,000	Each	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
18	ODOT	ODOT 659 Water	8	M Gallons	\$50.00	\$400.00	\$350.00	\$2,800.00	\$50.00	\$400.00	\$27.00	\$216.00
		SUI	BTOTAL, SEEDING and LANDS	CAPING:		\$11,515.00		\$19,555.00		\$17,375.00		\$9,048.00

BASE BII	D ITEMS: S. Cour	rt Street Concrete Curb Replacement			Engineer's	Estimate	#1 RMH	Concrete	#2 Smith Pa	aving & Exc.	#3 D.L. Smi	th Concrete	#4 Denes	S Concrete
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL								
INCIDEN		DESCRIPTION	j Qii	ONIT	0031	IOIAL	0001	TOTAL	0031	IOIAL	0001	IOIAL	0031	I TOTAL
19	ODOT	ODOT 632 Loop Detector Lead in Cable	40	Lineal Foot	\$25.00	\$1,000.00	\$21.00	\$840.00	\$20.00	\$800.00	\$50.00	\$2,000.00	\$100.00	\$4,000.00
20	ODOT/SC	ODOT 624 Mobilization	1	Lump Sum	\$5,000.00	\$5,000.00	\$5,585.00	\$5,585.00	\$5,200.00	\$5,200.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00
21	MEDINA	Maintenance of Traffic	1	Lump Sum	\$7,500.00	\$7,500.00	\$3,550.00	\$3,550.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00
22	MEDINA	Pre-Construction Video	1	Lump Sum	\$1,000.00	\$1,000.00	\$650.00	\$650.00	\$700.00	\$700.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
23	MEDINA	Construction Layout	1	Lump Sum	\$2,500.00	\$2,500.00	\$3,150.00	\$3,150.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
24	ODOT	ODOT 103 Premium for Contract Performance Bond and Maintenance Bond	1	Lump Sum	\$3,000.00	\$3,000.00	\$3,400.00	\$3,400.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
		SUE	BTOTAL, INC	IDENTALS:		\$20,000.00		\$17,175.00		\$29,700.00		\$27,500.00		\$21,500.00

SUMMARY - BASE BID	Engineer's Estimate	#1 RMH Concrete	#2 Smith Paving & Exc.	#3 D.L. Smith Concrete	#4 Denes Concrete
SUBTOTAL, EARTHWORK & REMOVAL ITEMS (Item #1 through #6):	\$46,383.00	\$50,505.20	\$56,435.25	\$29,061.00	\$43,689.00
SUBTOTAL, STORM SEWERS (Items #7 through #8):	\$4,750.00	\$4,640.00	\$6,040.00	\$10,000.00	\$3,850.00
SUBTOTAL, PAVEMENT (Item #9 through #13):	\$75,107.00	\$64,333.30	\$56,433.00	\$84,582.00	\$88,360.00
SUBTOTAL, SEEDING and LANDSCAPING (Item #14 through #18):	\$11,515.00	\$18,134.20	\$13,253.80	\$15,596.00	\$15,790.00
SUBTOTAL, INCIDENTALS (Item #19 through #24):	\$20,000.00	\$17,175.00	\$29,700.00	\$27,500.00	\$21,500.00
GRAND TOTAL, BASE BID (Items #1 through #24):	· '	\$154,787.70	\$161,862.05	\$166,739.00	\$173,189.00

BASE BII	D ITEMS: S. Cou	rt Street Concrete Curb Replacement			Engineer's	s Estimate	#5 Tri Mor (Corporation	#6 Perrir	n Asphalt	#7 Fechko	Excavating
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
INCIDEN	TALS											
				Lineal								
19	ODOT	ODOT 632 Loop Detector Lead in Cable	40	Foot	\$25.00	\$1,000.00	\$73.00	\$2,920.00	\$50.00	\$2,000.00	\$21.00	\$840.00
				Lump								
20	ODOT/SC	ODOT 624 Mobilization	1	Sum	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
				Lump								
21	MEDINA	Maintenance of Traffic	1	Sum	\$7,500.00	\$7,500.00	\$13,000.00	\$13,000.00	\$20,000.00	\$20,000.00	\$22,000.00	\$22,000.00
				Lump								
22	MEDINA	Pre-Construction Video	1	Sum	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$700.00	\$700.00	\$525.00	\$525.00
				Lump								
23	MEDINA	Construction Layout	1	Sum	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00	\$3,000.00	\$3,000.00
		ODOT 103 Premium for Contract Performance Bond and Maintenance		Lump								
24	ODOT	Bond	1	Sum	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00	\$2,400.00	\$2,400.00
	_			·								
		SUE	STOTAL, INCI	DENTALS:		\$20,000.00		\$31,620.00		\$44,700.00		\$48,765.00

SUMMARY - BASE BID	Engineer's Estimate	#5 Tri Mor Corporation	#6 Perrin Asphalt	#7 Fechko Excavating
SUBTOTAL, EARTHWORK & REMOVAL ITEMS (Item #1 through #6):	\$46,383.00	\$64,298.00	\$56,946.25	\$46,530.75
SUBTOTAL, STORM SEWERS (Items #7 through #8):	\$4,750.00	\$8,400.00	\$5,000.00	\$3,160.00
SUBTOTAL, PAVEMENT (Item #9 through #13):	\$75,107.00	\$75,416.00	\$108,301.00	\$130,384.00
SUBTOTAL, SEEDING and LANDSCAPING (Item #14 through #18):	\$11,515.00	\$19,555.00	\$17,375.00	\$9,048.00
SUBTOTAL, INCIDENTALS (Item #19 through #24):	\$20,000.00	\$31,620.00	\$44,700.00	\$48,765.00
GRAND TOTAL, BASE BID (Items #1 through #24):	\$157,755.00	\$199,289.00	\$232,322.25	\$237,887.75

COMPLETE BID SUMMARY

	_					
		Engineer's Estimate	#1 RMH Concrete	#2 Smith Paving & Exc.	#3 D.L. Smith Concrete	#4 Denes Concrete
GRAND TOTAL, BASE BID	ACTUAL	\$157,755.00	\$154,787.70	\$161,862.05	\$166,739.00	\$173,189.00
	AS READ		\$154,787.70	\$161,862.05	\$166,589.00	\$173,189.00
BASE BID AS % OF ENGINEER'	S ESTIMATE:		98.1%	102.6%	105.7%	109.8%
Final Coi	mpletion Date:		June 16, 2023	July 28, 2023	July 28, 2023	July 28, 2023
Non-Collusio	on Agreement:		Yes	Yes	Yes	Yes
В	Bid Info & Exp.:		Yes	Yes	Yes	Yes
	Bid Bond:		10% Bond	100% Bond	100% Bond	100% Bond

	Engineer's Estimate	#5 Tri Mor Corporation	#6 Perrin Asphalt	#7 Fechko Excavating
GRAND TOTAL, BASE BID ACTUAL	\$157,755.00	\$199,289.00	\$232,322.25	\$237,887.75
AS READ		\$199,289.00	\$232,322.25	\$237,887.75
BASE BID AS % OF ENGINEER'S ESTIMATE:		126.3%	147.3%	150.8%
Final Completion Date:		July 28, 2023	July 1, 2023	July 28, 2023
Non-Collusion Agreement:		Yes	Yes	Yes
Bid Info & Exp.:		Yes	Yes	Yes
Bid Bond:		100% Bond	10% Bond	100% Bond